Q007

1) Il Responsabile per la Transizione Digitale

2) Il Comune di Trieste deve migrare il gestionale dei tributi da un’applicativo di un precedente
fornitore in architettura client server alla soluzione di un nuovo fornitore basato su architettura
cloud.

Come esperto informatico che affianchera I’Ufficio Tributi illustri il contributo che ritiene di dare
nella prima riunione in cui sono presenti entrambi i fornitori.

3) Read and translate the following text:

The first peer to produce a valid value (nonce) is elected as block proposer, thus favouring nodes
with more computational power. This approach has certain desirable properties making it ‘robust to
security threats’, but is very energy inefficient and due to the dedicated hardware required to be a
competitive proof of work (POW) miner has encouraged the formation of large mining pools,
threatening the principles of a decentralized peer to peer network.



